L S B T e

’ in the world ? .
1 Which of the following is the largest inhabited riverine |s:;ul ml\’:l‘:‘ju“ 6 Whi
(A) Doab (('D) Marajo (A)
(C©) Umananda ©
(E)  Question not attempted (E)
ﬁnﬁﬁgﬁmmmwmgmwmwhqm%? . i
@) Ao ) R *
(C)  3IuwEaT «
(E)  argafa s i
2 Which of the following river is mot a part of Indus River System ?
(A Satlyj (B) Chenab 7 <
(©)  Kosi (D) Rani
(E)  Question not attempted
PP % 2 0 ot et g e vt v s 2 2
(A)  waew (B)
© =R ®) el
(E) argaf@ws
3 Which of the following Lake is not a Saline water lake in Rajasthan?
(A)  Pachpadra (B) Sambhar 8
(C) Didwana (D)  Pichola
(E)  Question not attempted
ﬁnﬁ%m%ﬁraﬁw@ﬁsﬁaﬁftwaﬁgﬁﬁﬂﬁ%‘?
(A) wETEm (B) Wi
(© Eream ‘_@ e (et
(B) ergaf@ws
4 Which of the following is the application of computer mostly used in medical field?
(A) To pfovxdF assmtan.ce in surgery (B)  To create advertisement
(C)  To visualize 3D objects (D) Toprovide distanics it 9
(E)  Question not attempted
ﬁn%@aﬁ%wwﬂqmtﬁﬁ%mg@m Farfredi 8 A e 2
(A) e fafshea o wermar & ®) o e
(C) 3% aﬁﬁmaﬁwg%@m _

(B) wgaf@wg -

.

D) T e wew sy

5 Which of the following is not

the class/cmegol‘y of computers? :
(A)  Parallel Computing (B)  Micro Computer
(C) Mini (':omputer (D)  Mainframe Compute l
(E)  Question not attempted ' ‘
; ﬁqﬁfﬁﬁﬁﬁmﬁm%“ﬁ@"ﬁﬁ?ﬁ%‘z )

(A) e FPfén B)  WrEn gy
) frfiFEgx - (D) Wi e

L ® e , A

® s g o ‘ .- [T
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6 Which Indi
ian has won the 2023 Ramon Magsaysay Award? (Choose the most appropriate option from below)

(A) RaviKannan (B)  Kailash Vidyarthi
(C) Ghazal Alagh 06 (D) Gautam Adani W
(E)  Question not attefopted (4q
%amﬁﬂa?tzomsﬁﬁwﬁ@gmmsﬁm(ﬁnﬁﬁmmfamgﬁ) <
A) WF= s @) S fremdf ™~
(0] a0
€) T (D)  Tiam 3T O
(E) SEi@sd -
. . ‘—{ ) :i_vi
7 Critical Minerals Summit 2024, was held in which of the following city /U.T.?
(A)  Chennai X (B) Mumbai \O
(© NewDehi () (@) Kolkata M
(E)  Question not attéfl%lpted i ;
Trferer res Te @) 2024, g et/ S & #F st femar mam? o0
A) == Q ® g 3
©) et : (D) e —
3 1
(E) IoRa@ud
D :
8 The famous speech by Bt} Jawahar Lal Nehru, addressed on the midnight of 14-15 August ,}9?7 is called
- (A) Tryst and Co-operation (B)  Tryst with destiny =
SO . ; ™~
C Tried with destiny, D)  Tryst with hones
(©) rie es l&]ﬁ’) (D) Ty ty [5e)
o

(E) Question not att&mpted
14-15m1947aﬁm?1{<r&a%qﬁaﬂwmﬁsamﬁm T S T HET AT &+

() RETsHRH ®) fefeish o

© gEefrsfd W0 D) frefar iR &

(E) F[E@TT o o

9 The cities that were ditlded into communal zones during the partition of India were- P
(A) Lahore, Bihar afid/Calcutta Fo %)

(B) Lahore, Amritsrrénd Hyderabad o

™

™

(C) Lahore, Amritsa'{_%md Calcutta
(D) Amritsar, Calcutta and Jammu & Kashmir

(E) Question not atfempted o)
eree 3 P s 2o v gt i b T A - ™M
(A) @, faen S T :{ii
(8) @R, awqamaﬁ}zzm _ f;,
(C) TN, Agaat AT o
(D) | SaaT, FAFArSh s F -
() FFaf@nd i : |
. [ P.T.O.

All]l ®
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10 Given below are two statements: . - i
Statement (I): In April 1919, the Udaipur state government formed a Commi“"_',“"‘ fintigi) ke g:lg::::;i:;
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. {
advocated various recommendations for the benefit of the farmers. .

Statement (I): Officers of the Forcign Ministry of Indian govenment believed that a quick “'l"‘“clc should be made
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajputana.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (1) is incorrect but Statement (1) is correct.
(B)  Both Statement (I) and Statement (I1) are correct.
(C)  Both Statement (I) and Statement (II) are incorrect.
(D)  Statement (1) is correct but Statement (11) is incorrect.
(E)  Question not attempted
m(n:ﬁt-ﬁ%m%qﬁrﬁma%@%%q ST T TR T I 1919 F, T I3 1 724 WSz
Wﬁzamm&ﬁmmﬁnﬁaﬁm Wﬁ%%ﬁﬁ%%ﬁ%mm:ﬁmﬁl
HUF (1) Ww%%m%mwmm%ﬁﬁmmﬁﬁwémﬁmmﬁ
ST ST T & s HidTer U féamers w1 & awar
IR YA mﬁ,ﬁmmﬁm}ﬁémmm?ﬁ]
(A)  ==7 (1) e & S e () EE Y ®) FE D ARF= ) IET T
© == (1) w1 I S e S D) == 0w A w= () e )
(E) igui@ws
11 Which of the following is not a type of Iron ore?
(A) Lignite (B)  Siderite
(C) Limonite (D) Magnetite
(E)  Question not attempted
Friafes # 4 < e s s v T
(A) fommz ®) I ()
©) fadmmz D) IR
(E) srafawz

12 Which of the following is an exam'ph_: of joint sector industry? (C.hoose the most 3ppropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronautics Litiied
(C)  Oil India Limited (D) Steel Authority of India Limjteq
(E)  Question not attempted

T8 F0 A1 TG &9 I O e (e 3 @ et e e g
(A)  wma ¥t safagTen fafize (B) Rgwm Wi e
~H€)  iTEe e fafyre (D) W i i sy fafre
(E) <A@ uz
13 Which of the following is a mineral-based industry?
(A)  Food Processing Industry (B)  Textile Industry
(C)  Fish Oil Industry (D) Petrochemicals Industry
(E)  Question not attempted
Frerferfiaes 3 & = a aafrn sarnfe i b
) TEsEm AP e vdim
(®) 3:@?{?(?[ wH

4
All]l &®

[ P.T.O.
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s
The average of 11 observations is 50. If the average of first six obscrvations is 40 and the average of last six
observations is 55, then the sixth observation is:

1 sraiRl 1 3NEd 50 R1.3f% Teet e sveiE a ahaa 40 B, it sifon oE SvEEtE w1 shea 55 8, 6w s
&

(A 35 B) 30

(© 40 up) 20

(E) Question not attempted / 7TAfE w51

The length, breadth and height of room are 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole

15
that can be placed in it, is:
(A) 15m (B) 19m
() 18m (D) 17m
(E)  Question not attempted
o T 12 o 3it-Sher 3t 8wt e &1 T @ o A it 35 €8 A sifraw el A |
() 157 @®) 194
©) 187 (o) 1Ht=24a9
(B) Sgai@ws S SR
16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B)  110m
(© 119m (D) 115m
(E)  Question not attempted
e TIreTC AT 3 SR SR aged ht sricer TRERT 660 Het &1 7f T 14 et <her & A el ey i < e,
(e i) = Brit? ‘
(A)  84HRX (B) l1oHT
_© 119t ® 15 '
(E) orgafawa
17 A shopkeeper sold an article for ¥ 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
wF R 3 Frelt T A 20% 1w TR 400 T 3= 10% F7 T Ty ¥ forg, ¥ 3@ TFG W Ha W
ST AR
(A) T530 ~B) T 550
(C) 500 (D) %520
(E)  Question not attempted / 3TFaa 4
18  Who of the following social reformers was associated with the abolition of Sati Pratha?

(B)  Vivekanand

(A) Govind Ranade
(D) Raja Ram Mohan Roy

(C) Dayanand Saraswati
(E)  Question not attempted

NS N——— T AR AR

@) i @ T
© . 4 (D) TSI O HigT
(E) rgafawa

Alll ® 5 [ P.T.O.
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19 “The Indian War of Independence”, book was written by whom?

(A)  Veer Savarkar (B) Mahatma Gandhi WO
(©)  R.C.Majumdar (¢ (D)  Baba Amte N
(E)  Question not atteffited =1
% $fer Al i $Rsr| e s g feredt méo r
) dwwme (B)  were i -
AO) o (D) = AT {1
(B) ogafaws _ s*!
™
20 AR A I ¥ \D
(A) o o gfe 2Rt ate e ek (B) s it et o o e
46) S i e e f (D) T o e i 2 e
(B) gmiassr g tIfD
(es] o
21 1 3 w1 e it i
Heft-1 :g . i
a. FeH g L et g
b WA I SR T 3T R ::ff
c. SRy nr. e fereem ;3:
d eI ST BT Iv. drorfaamr -
ﬁmmﬁmﬁaaﬁ?@wmwwm= co
4 a-lLb-1V,c-JEd-I (B) a-ULb-Mc-IV,d-1_ E’fl
© a-IV,b-TILc-Ixd-II (D) a-I,b-IV,c-TL,d-I
i
® i@ |
& : \D

22 At the time of India’s Ifidgpendence, how many Riyasat were there in present day Rajﬂsth(?l’; (Rajputana Regi
(Choose the most appropriate option from below)

mﬁﬁﬁmuﬁﬁuﬁr ST ok TSTEATH (TSR &nf) & et feamerar off 2 cﬁwﬂ%mmﬁmgﬁ)

(A 29 t;‘: (B) 19 e
(Cc) 21 . (D) 25 i
(E)  Question not attempted / i 94 ‘|
23 ‘Indian National Army’ QNA) was created by- (Choose the most appropriate option from bé|Giv)
(A) Netaji Subhash qtp}ndra Bose (B) Lala Lajpat Rai '
(C) Bhagat Singh =t (D)  Bal Gangadhar Tilak Ll

l"\,
(E)  Question not attéimpted o

wefoar arren sl (SATE) G, ) o s o fo v ey (TR R 2t e e )
~A) %mﬁwwa‘ﬁ? (B) SR ol
© e :j (D) @ Tt fvers v

(E) ﬂaﬂﬁa aa

’ PI
a1l ® [
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Match List-T with List-II.

List-I List-11
a.  Chipko Movement L Afro Asian Conference
b. Bandung Conference 11. A proposal made by big industrialists in 1944
' for setting up a planned economy
c. Dr. P.C. Mahalanobis 1. An environment movement to prevent cutting
down of trees
d. Bombay Plan IV. Economist under whose leadership the Second
Five Year Plan was drafted
efl-1 & A -1 =1 fira= iy
Teft-1 =11
o For st L . e Ese
T aHe L o R srferae s 0 & g 1944
F w2 Seiraterdt ERT foRaT AT O ST
c. <t e oL St e da 3 fog o wata sridier
d. SmwH v, v R e § gl e dIsET
g wEeT AR foR T o
Choose the most appropriate answer from the options given below:
43 R e fredt & & walferes Iage SAUEH|
(A) a-ILb-ILc-IV,d-1 "~ ®) a-Lb-ILc-IV,d-1I
(C) a-ILb-Ic-IV,d-1II (D) a-MLb-Lc-IV,d-TI

(E) Question not attempted / 3TTaId T

In which of the following year United Nations adopted the UN guidelines for consumer protection?
ﬁgﬁ@ﬁﬁnﬁ%f&ma&ﬁmﬁmm%fm@,ﬁmﬁ%ﬁmﬁ%&ﬁaﬁm

(A) 1985 B) 1979

(C) 1981 (D) 1983

(E)  Question not attempted / 3TTARA ¥

Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI

(C) LIC (D) IRDAI

(E)  Question not attempted

ﬁnﬁﬁaﬁﬁaﬁwmmmﬁaﬁmm@ﬁﬁﬁﬁm%?

() & (B) IR HE
(€) uw. g _ (D) 3 IR . g, o,
(E) oraf@yd ' -

Who is the head of the Indian Audit and Accounts Department?

(A)  Attorney General of India . L0 ShreMy:
(C)  Comptroller and Auditor General of India (D) Prime Minister
(E)  Question not attempted |

T et e i S fasy & wg@ 9 87

(A) ¥RA F TETIATE (21T e (B)
(C) ¥ra & e wd merramiss (D)  wurER
(E) smefays

® “ . B | ' [PTO.
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28 Which of the following is not a COmmuumﬂl post? £

Ry S (’, t (B) G(wcr‘n()r (.f
(C)  The Chicf Justice < (B Movea =
(E)  Question not attempted ™ [-:_
Freafiafierr 3 & a4 e aidnfid v e & o0
(A) R ey (wfia) ; ' (B) TSI -
(©  Ho1=mmiy v (D) el T T v
(B)  srgaita wu ™ L
29 Asper the Constitution of India 910 name of a state in the Union of India can be altered blY -
(A) Parliament ot (B) Cabinet Committee ¥
(©)  Governor < (D)  President f )
(E)  Question not attempted .
wm%mﬁm%“$m¥ﬁmqg%ﬁmvwmmmﬁm%ﬁmﬂuﬁmwwmmﬁhﬁmaﬁmm&’
(A) o (B) ufimze afufa 0o
€ T s (D) Tt -
(E) Suf@wy yl i
30 Identify the most appropriate English translation of the given sentence: e
T UIEH AT T@T W ¥ R et g -
(A)  Fresh air can be had only Butside. ~B)  He came out to eat a little frésh air.
(C)  He came outside for a bréath of fresh air. (D)  He gulped some fresh air (():tsxde
(E)  Question not attempted £™ o
o >
31 Choose the most approprmle Hindi word for - “Endorsement”. oo
(A) ST HE rld (B) I FCA e
(C)  UBiEA FET . (D) YeHFET ™
(E)  Question not attempted L |
32 Which of the following best dek;?nbes the function of control unit? \0
(A)  Perform the arithmetic operanons ™M
(B)  Control the operations of{pemory, processor and input/output devices, =7
(C)  Perform the logical operations. >~
(D)  Convert the external date;tjo form understood by computer. (0 0)
(E)  Question not attempted o
P i & 7, 21 afte St sl ke v 22 -
(A) st gftare 1 fwe vl
(B) #mH, mﬁmmmwawﬁ%vhmmm
(©) mmmﬁmmwmﬁmw 0
(D) mmm)mﬁwam@wﬁqﬁaﬁam ™
() gaf@aug P <
33 Khadi Kamgar Arihik Prolsaha?l}{ojana has been implemented in the Rajasthan state frmg’
(A) 16 July, 2024 -] (B) 13 July, 2022 A
(C) .14 July, 2022 v (D) 15 July, 2023 o
(E) Question not mlemplcd‘—f v~
TSTEAT T4 8 Tt swme snfider siveuress svorn ey @ v o6 v ™~
(A) 169, 2024 (B) 135, 2022
(C) 149, 2022 (D) lsw 2023 1
(E) it

All] X 8
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All]

Match List-I with List-II :

List-I List-I1
Scheme Launched
a. Shudh ke liye youdh I. 26 October, 2020
b. Nlrogi Rajasthan Abhiyan I1. 18 December, 2019
c. Imﬁra" Rasoi Yojana 1. 20 August, 2020
d. Indxrﬁ Gandhi urban credit Iv. 24 Februar.')’- 202[
card y yOJana oy,
geft-1 5 e el v e .
et T
e - B
a. Y@ CIR L 263 2020
b, P usam sifiem L 18 feEE 2019
c. i asm L 20 3T, 2020 ]
d. ¥R e et e s v V. 245G, 2021 e
Choose the most approprmre answer from the options given below: i)
) g e Rt 3 & warter suge SECTA g
4) a-1v,b-T,c-1,d-T ®) a-Lb-Ig:ULd-IV
© a- ILb-fic -1V, d -1 @) e~ MI;b- 1, S
(E)  Question ﬁ'ai attempted / AT T ~ ¢ h{

Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from

below)
(A) Southern Rgasthan (B)

(C) Eastem R%sthan (D)
(E) Question nbt attempted

]
El?—cmmtﬁnawhﬁam(m S, . W) 1 Pt i & et g, Sl Y A s 87 (R i & e ST

Western Rajasthan
s

Northern R_Pj?sthan

(A) <fao et (B) ufief TS,
©) qﬁvmﬁ: (D) Sl TSTRTH.
() AEf@wa =~
Salt water crocod\B is main fauna of which of the following biosphere reserves?
(A) Panna ) -+ (B) Simlipal 4¢3
(C) Great Nlcq\l:ar (D) Kutch 'as)
(E)  Question ng t attempted &j
e iciteat frafafaa i & frg sfaded ferd &1 qer sha &2 B
(A) 9=1 (B) fmfeure &8
© = ﬁm_.q ; D) T
® sy -
Which among thé following is the longest river of Rajasthan? o
(A) Khari () (B)  Chambal ‘&
(© Luni  <H ()  Sabarmati ()
(E)  Question not attempted <Y
frfrfiae & & TrCuT i T Tl T A At & £
@ =@ O ®) < D
© i r~{ (D)  wmwR O
(E) agaﬂaw—{ |
~{

® 9

[ P.T.O.
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38  The Thar desert comprises the desert triangle of three cities - (Chc'yose the mosthappf-ﬂg‘::‘:e:pnon i )
Jaisalmer - Jodhpur - Bikaner (B)  Jaisalmer - J_Od pur 43
(& ] ; ; (D) Bikaner-1J aisalmer - Barmer
(C) Bikaner - Jaisalmer - Pali
uestion not attempted :
f@ﬁgnﬁ fﬁw@ﬁsﬁr{)ﬁwmﬁaﬁwmﬁa%. g & - (P 3 2 el 3 ke )
(A) SR - S s (B) e S - A
(C) R - e - ureht (D) e - ST - AT
(E)  oTgf s
39~ Whatis the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and puls
launched in Rajasthan in the year 2007-20087? . . , 44
e 7 2007-2008 3t ey forg e A ofe et 3 Tt e g fae (O, OF. TE. T % T GOZ T Gog
FTUHF I F @ AR
(A) 80:20 . (B)  60:40
(C). 50:50 @) 70:30
(E)  Question not attempted / ?ﬂfﬁﬁﬁ EE
40 Which of the following sector plays most important role in the economy of Rajasthan state?
(A)  Education Sector (B) Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45
(E)  Question not attempted ]
TS e o g 8 & it i, Feaferes & STfen weea T ST 7
(a) fenas (B) maw =
(C) wremdw D) =wam
(B) gaiawx
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A)  Soyabean and Cocoa (B)  Cotton and Tobacco
(C) Tea and Sugarcane (D) Coffee and Cereals 46
(E)  Question not attempted
Frefefiaa # & 2w Torerm e e G wed B (R 8 et s v )
(A) HrEEE SRR (B) e i arars .
(©) =T (D) =l 3K 3w
(E) i as
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for B e
Rajasthan state during the financial year 2022-2023.
(A)  slum poor ‘ (B) rural poor
(C)  urban poor (D) tribal poor 47
(E)  Question not attempted
ﬁﬁqﬁzozz-za%ﬁmmmmmﬁmmmﬁmﬁm(U.'-T-W.‘Qﬁ.m.)awﬁmr:am A
TR I o feg fa v 2 o
(A) it shad fade (B)  wmwior frds
() wehfdy (D) S fids
(E) rafa s
Aann] @ - 1t

Whic
(A)
©
(E)

(A)
©
(E)

‘Do
(A)
©)
(E)
(A)
(©)
(E)

Natt
(A)
©
(E)
B
(A)
(&)
(E)

Col
(A)
©
(E)

(&)
©
(E)

Fir
(A
(C
(E
Pl
(A
@©
(E

[PT.O. A11]
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All]

Which one of the following is the oldest oil refinery in India?
(A) Haldia 1;eﬁnery (B)  Mathura refinery, .,
© Koyalﬁz%ﬁnery (D) Digboi refinery {‘ ;»?-'
(E) Questigxg‘ not attempted el
Freafenfiat ¥ e B e At Rl el 2 2 e
() e ®) wyu feerrd
© TR oy fomad femrt
®) SRRESH -

v o
‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the f’o!.l.?‘:ving famous mountain range?
(A) Pir Pa'ﬁjfél Mountains (B) Nilgiri Mountaing_‘ r’)
(C)  Aravali Mountains (D)  Satpura Mountains,,
(E) Quest%ﬁ not attempted {“.;
Sre=Er afﬁ?ﬁl‘g’a‘?r TR e S 21 e R i A - st o s o g T
(a) U T m Hefdea O
I ©) e
(E) TgaR@s= v
Nathu La Pass  is situated in which State / UT of India? W
(A) Amne&i\é: 1 Pradesh (B) Meghalaya £y
(€) Jamm{l4 and Kashmir (D)  Sikkim ::i
(E)  Question not attempted . % "‘
T e (3R e s o e/ e e e 22 0w
(A) STETEAT (B) wuwE w
(C) ST ATHTR Ap)  fuferm :j
() SErays : i s
Colour blind ‘person is unable to discriminate between : -
(A) Blue and green colour (B) Red and yellow cgigur
(C) Blue and red colour (D)  Red and green cqilz)fl.r
(E)  Question not attempted .
e (e Seitee) =t T Gt 3 e e o H o g
A) maﬁ?;mm ®) e
(c) e 3?5 Tt a1 (D) ST v
() ERANA

: O
First Indian spagccraﬂ which will carry 3 members and will orbit for 3 days in sﬁ?& is:
(A) Bhaskar3 (B) NISAR ¢
(C) Gagariyaan (D) Spadex i“"
(E) Qucstf&? not attempted €0
o Tl e S 3 wawdt i @ e i A8 afaftar § 3 R & R @y a’
@&y wmes B) Wadwmyam ,
@ T (D) W
(B) Sgaf@ A

® i [ P.T.O.
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Which of the following is not the allotropes of carbon?
(A) Diamond

(B) Fullerene
(C)  Ethanol (D)  Graphite
(E)  Question not attempted
Frferfaa # | F-a1 e #1 sy Qe TE 87
(A) TEwE (®) gl
&) e (D) IFTEE
(E) ofguia
49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?
(A) 18" Constitutional Amendment (B) 15 Constitutional Amendment
(C) 16" Constitutional Amendment (D) 17" Constitutional Amendment
(E)  Question not attempted
mmmmﬁﬁw%mﬁ@mﬁaﬁﬁmsoaﬁﬁmezaﬁmﬁ?
(A) 1891 Gigum gxiem (B)  15at dferum gt
(C) 1631 dfaum deias (D) 1791 wferam guree
() orgaha wx
50 Match List-I with List-II.
List-1 List-IT
a. Goods and Service Tax L Article 82
b. Delimitation Commission 1L Prime Minister
c: Survey of India - III.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV.  Article 246 A
FE1-1 6 |y g=h-11 =7 firam hiftmg
g1 -1
a. IR I 3<% 82
b.  uftEma s L S
c.  WRdIE waeEwr (| i 3feam) L o oft shedifireht R
d. Ty S famr IV. IT=8% 246 A
Choose the most appropriate answer from the options given below:
et faw o fererea o @ waifares 3uge swaH|
(A) a-1,b-IV,c-1,d-1I B) a-Lb-TLc-1Ld- 1V
(C) a-IV,b-Lc-1I,d-1I D) a-1V,b-lllc-1,d-1
(E)  Question not attempted / Cﬂﬂﬁﬂﬂ B
51  The concept of ‘equality before law’ is an element of the conC.Cpl of ‘Rule of Law* which was Propounded by -
(A) Ivor Jennings (B)  PaulJanet
(C) A.V.Dicey (D)  Lord Acton
(E)  Question not attempted
T 35 WA G 7 ST T 2 T o) STt il O e ) Eﬁﬁw‘aﬁamgﬁmﬁa%mnmw
(a) TS (B) RIS '
4C)  uHt e (D) @SR
(E) St S .
Al ® !
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52  The actual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
1 15f i 2t i et arefiies gt o s oy 7 (P i & T 30 fere )
(A) 10% (B) 9%
(© 8% (D) 7%
(E)  Question not attempted / 313?7&?[ B

53  GST Council is a Constitutional body established under the following article:
a@@ﬁmmmwﬁa‘nﬁmﬁﬁmé,ﬁmﬁmﬁqﬁr@aﬁﬁﬁmmﬁz%m#ﬁﬁév
(a) 122 _B) 219A
© 184(1) (D) 247
(E)  Question not attempted / STIRRE 5

54  Which of the following tax generates maximum amount of revenue for the Government of India?

(A) Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Duties
(E)  Question not attempted

ﬁmﬁrﬁaﬁﬁ%@qwm,mm%%qwﬁmwmmm%?

) Fmfir @die) FT (B) I
© fsr= (D) I
(E) guid ¥ ‘
55 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

ﬁnfaﬁaﬂﬁﬂﬁqa@qéﬁmmaﬁqﬁﬁxﬂw%?

A) aefaEfe (B) Wi |
«C) daE ~AD) TEEW
(E) Jrgaiaysd

56  Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was

offered a jagir in Rajasthan, he would choose that fort ?

(A) Nahargarh Fort (B) Chittorgarh Fort
(C) Taragarh Fort (D) Bhainsogarh Fort
(E)  Question not attempted

Wﬁﬁ%fﬁﬁmﬁwmm?ﬁmmf@ﬁwﬁi wrfe 3= groreum § fet SR

v 1 S, @ e g foe A g ?
(A) TG feer (B) fusitemg frem
(C) amng fae 4Dy ahrg frem
(B) rgaf@ad
57 Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A)  Shekhawati (B)  Hadoti
(C) Mewati (D)  Vagri

(E)  Question not attempted

aham,waﬁw%mw%w@éﬁﬁmrﬁ\miﬁ?ﬁmﬁm

(a) EErEd (B) et
©) (D)  arrEh
(B) gaf@sd

All] ® 13 [ P.T.O.
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58  In which year was Kalbelia dance form included in UNESCOQ’s intangible heritage list?
m%mw@rmﬁ@wﬁaﬁwma@ﬁﬁmaﬁm%mww
(A) 2011 (B) 2008 )
(©) 2009 (D) 2010 <
(E)  Question not attempted / ST v ™
§9  Fillin the blan(lg.“\g'ith the most appropriate option : :i:
R o i Tt e e & e
5,28, 65, 1 @H .
S Yy Ft— =
(B) 204
© 194 ™ (D) 206 "
(E) Questlo{r% lélot attempted / TR Wt f;"i
60 Inthe given question, choose the number letter group which is different from the others.
mnaﬁaaﬁ@rmmggﬁshmﬁmél P
(A) OE3 my <B) PH3 (o8]
© X2 ¢ (D) IB5 )
(E)  Questionot attempted / ﬂfﬁfﬁﬁﬁﬂ i
61 When was Raj;;?han Information Commission constituted ? e
(A)  April 28,2006 (B)  April 18,2005 X
©  April 185006 (D)  April 28,2005 &
(B) Questioﬁot attempted ™
TSI AT ST 357 7 2t g2 <
(A) 28318, 3006 B) 183w, 2005 b
©) 18372006 (D) 283w, 2005 OO
®)  sreiE <
62  Which of the following position is nor mentioned in the Constitution of India? 3
(A) .Loksabha Speaker (B)  Prime Minister
(C) Chief Mi&;}ster ; (D)  Deputy Chief Miniis\tér
(E)  Questionnot attempted
Frefetae 3 -8 2 e e s e e 2 M
(A) T ST ®) S <7
© g@mﬁ? (D) 39T g
€ wghesy P
63 Who among the-following commonly serves as the Chancellor of State Universitie§?1'
(A) Governgry (B)  Prime Minister
(C)  Minister of Education (D)  Chief Minister
(E)  Questiontlot attempted 0
Fefafia # A A o Fraforarerdt & gy pew ke TS o
(A) Tsggre sl (B) Wt ¢
©) frgm oA (D) s ey
(E) :q-:[‘aﬂag’a 0
64  Geostationary éé?fllites are positionedat ___ km upward distance from emlg‘
' Ve IR T EY et e & Tt e o g e o e 21 i
(A) 45990 (B) 26000
(C) 36000 (D) 55690
(E) Question not attempted / aﬂaﬂﬁﬁ oy
All] ® _ B
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65  Concentrated nitric acid (aq) reacts with copper to give
(A)  Copper oxide and dinitrogen oxide (B)
(C)  Copper nitrate, nitrogen monoxide and water (D)
(E)  Question not attempted
A AEH U (aq) T @) & arfirfiren av da d-
(A) AT T STEATISH inss (B)
(C) WA, EISH AHTawTss v art (D)
(B)  STgaha sz

66 Son river is a tributary of which of the following?
(A) Narmada (B)
(C©) Yamuna D)
(E)  Question not attempted
Tl da e wems
(A) THar (B)
(© T (D)
(B) Fuiawy

67  The Southern most Himalayas are known as 3
(A) Aravali (B)
(C) Himadri D)
(E)  Question not attempted
T () aféror fewrer it for T & ST ST R 2
(A) Es -~ AB)
© R (D)
(B) e s

68 T, TIoE forE wa T SaTEwT €7
(A) HEdArEsh (B)
(C) =atwara® @)
(B) afa s

69 mﬁq&ﬁﬁm%mﬁﬁ%ﬁaﬁ@
(A) i 8B)
© @ D)
(B) SrgEfEwA

70 forw amma # v 98 YU €1 €7 «

%) W ED;

(C) agH
(B) aRa A

- mmm%mﬁmaﬁmﬁmmﬁg- X
(A) FaTaeh afed Iod ;Di
€ #ryd
® IR 5

All] ®

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

T G U BIFGA -

Ganga
Mahanadi

" Shiwalik

Him:

INEURED

af&a werm
Endcic
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; but not by 37
73 How many numbers from 11 to 70 are there which are exactly ‘l"f""hlc by T
(A Six (B)  Nine
(©) T“\ (D)  Seven
(B) Q\cs(iun not attempted \D
1R 703 fer Pl s & i 7 2 o v e 3 3 s by
(A wE @) N e
© i (D) W [~
(6) L‘ i ww (09
73 Armangg the following words according to dictionary arrangement: £
R vt ) wsaraeh) (Rt avmivert 3 s syafter ifim)
a. Except b. Ex pect'v
y  Excess d. Exit
Choose the maost appropriate answer from the options given below.()
0 i : 8
A R st 3 i Fuaes I ™
A &db (B) b, drajc
© ‘\’f}' d.¢ (D) ¢, dfayb
(E) Question not attempted / ST war 00
74 Chmsc‘ili't venn diagram which best illustrates the three given clasié_é":
TR R P S ROl it ) et - & o
Flowers, Red, Fruits. . ‘
SNSIS TS
P WO
» Q0D
, o
(E)  Question not attempted / SRRGRE
75 Which épﬂ\c following two states have a joint plan under Mahi Projsﬁ‘t? .
(A) ajasthan - Haryana (B) Raja‘sﬂian - Madhya Pradesh
(C) Rbjasthan - Punjab (D) Rajasthan - Gujarat
(E) u_;tstion not attempted [
IR & it 2 Ol e ohlie o v Ay o0
(A) TSR - (B) TSEAW - e s
(©) UTHIH - 4o (D) TSR - 570
(E) Sqafawy v
76 The chiditteristics of computer in which, computer can pcrfonn&i)ﬁ'erem types of tasks with the same ease is
known 857
(A) Diligence (B) Spc%]‘r
(©)  Versatility (R Deliglhny
(E)  QuUkstion not attempted on
S R e W0l g, mmﬁmm%mwﬁmmﬁv
(&) e % wElaaT
© e ® B
(E) qeaf@uyn
16
A1l ®
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77 Select the related word from the given options :
Animals : Zoology :: Blood : ?

(A)  Entomology (B) Hematology
(©)  Pathologyry (D) Anatefny

(E)  Questionmot attempted 0
o mo et 3 @ weifire vz =1 w7 i M
ST : SR G : 2
(A) IR ®) Rt
(C) TS v ©) wEEH
(B) igafawer! el

78 628,429, 183,249, 416
From the above ‘seﬁuence of given numbers, what is the sum of the unit d:glt of third number from left and tens digit
of the fourth number from the right?

U &) Tt w6 W aﬁ%%ﬁz&@maﬁm%ﬁrﬁmaaﬁ%aﬁmﬁm%aﬂéwwﬁm?

(A) 6 0 _(B) 3 .
© s < o 7 -
(E) Question‘;l?t attempted / iﬂgﬁﬁﬁ oy ;\

79  Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi 1; the only son-in- -law of Bhumi's mother.
How Ravi is relatedl to Sangita?
(A) Brother-lﬁ'law (B) Grandson .,
(©) Uncle ' * (D) Husband og“gganddaughter
(E) Questlon!:c;t attempted
gwﬂaqﬁdﬁq@ﬂmmmﬁ e fiy =6 ST T T HTA ST B tﬁfﬂwﬁmﬁwm%‘?

(A) wetgdl [ (B) W= £rs
© ¥F Dy At afa o
(E) guiass el
80 ‘Who among the &falowing established mobile reading rooms and libraries at various places in Rajasthan?
(A) Komal Kbthari \ (B Pt Jhabar Mal Sharma
(C) Acharya ulsi (D) Swami Keshwanand
(E) Question &qt attempted o
mﬁﬂ@@m%%ﬁ?wﬁwmﬂ%ﬂwmmaﬁm@
(A) aﬁqaa?@g (B)  ufved gmer Hey st
(©) (D) Wt FEED
(E) Nﬁ“ﬁa o) gl
0 o
81 Which of the folldwing leaders led the Bijolia movement? i
(A) SurendraSingh (B) Vijay Singl}“iPhthik
(C) Chuna Ranmi Punia (D) Kanwar Vijay Pal
(E) Qucstionr;'l?t attempted , 5‘!
mﬁa%ﬁmmmmm 0
(A) g\zﬁﬁ B) o fiie wiww
© a:nmgﬁm (D) @ fasm rnf«ri
(E) iguRaws T

All] ® 17 [ P.T.O.
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82 Barkana water falls is situated in which of the following state of India?
(A) Odisha (B) Karnataka
©) Goa (D)  Tamil Nadu
(E)  Question not attempted
P fier a5 & virc ¥ fo wroer i s StewaTa feera 29
A) fem (B) @Alewh

(©) i (D) dftierrg
(B) Irgafaws :

83  Which of the following mineral is non-metallic and inorganic?
(A)  Graphite (B)
(C) Coal
(E)  Question not attempted

ﬁq%ﬁgaﬁ%ﬁqm@ﬁaamﬁam@ama‘ﬁm%? 2

(A) I (B) Tt
Fraar

(©) (D) WfeEm
(E)  srgafews

Natural Gas
(D)" Petroleum

brings new studies, new research and new health warni
contradictory and further confuse lay people.
Part of the problem is that many studies are financed by the food industry,
much of the so-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thin
breakfast is the most important meal of the da
for your health.

which has a vested interest in the outcomes. Anc¢ 89
e decades does not emerge out of pure science b

g may be the rule - rigidly advocated by some doctors over the years - thz
y. Skip breakfast, you will be told, and there will be damaging consequences

You can trace the roots of the advice to (surprise, surprise!
Kellogg family (owners of the eponymous cereal company)
It has always been a peculiarly Anglo-Saxon idea. Peo:
attach such great importance to it. Nor do countries wii
instance, in France, breakfast may well consist of bla

) the American cereal industry and to such food faddists as the
ple do eat breakfast all over the world but they do not necessarily
thout a breakfast tradition see a sharp decline in public health. For

ck coffee and a cigarette. The cigarette is not a good idea but the
absence of solid food in the morning doesn’t really hurt the French very much. Until the fast food industry spread al] over 90
France in the last decade or 50, the French had much lower rates of heart disease than most English-speaking countries,

In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff like
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfast-i
actually contributed to a decline in American public health, the obesity epidemic
sugary cereals are quickly putting out new ‘low-sugar’ variations,

Some doctors still insist that the first meal of the day may be the most important. But the scientifi
view that if you avoid breakfast nothing terrible will happen to you,

pancakes with suga
S-essential myth has
and to tooth decay. Manufacturers o

¢ evidence supports the

84 Complete the sentence by choosing the correct option:

91
Inrealitythe ___ benefits from advocating the need for taking breakfast,

&%) food Industry (B)  general public (
(C)  French people (D) children ¢
(E)  Question not attempted a

All] ® 18 ' [PT.0. A11)
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85  According to the conclusion of the passage, breakfast -
(A)  Contributes to an individual’s health, (B) Is essential and not to be skipped.
<C)  Skipping canngtharm you. (D) s the most significant meal of the day.
(E)  Question not attempted 48
zu_r et
86  In America, obesity aud tooth decay have assumed the proportion of an epidemit becausc of the -
(A)  Consumption Qf;"ﬂVOUYY food (B)  Vested intcrest of the general public
{C)  Consumption of'sugary cereals, (D)  Greek idea of bréakfast.
(E)  Question not attémpted i
i i
87  Bogus means
(A) Confident O B) False Ke)
(C) Big By D) True )
(E)  Question not attempted <f!
I~ -
88 Identify the most appropriate idiom which can replace the underlined words: 0
Rohit has the reputation of complicating and confusing things when any issue is‘raised in the meeting.
(A)  got our wires trossed (B) asclearasmud *
4€) muddying the'Waters (D) incomplete shamt;ies
(E) Question not attempted
(e] (17
89 Which of the followifigfacility is mainly provided by E-mitraplus initiative of Kgﬁsthan?
(A) Video conferenicing i
(B)  To apply for biith certificate, domicile etc. ?"“
(C) Payment facil@for individual firms e
(D) GIS based Deglaon Support System Cﬁ‘
Question not a'ﬁempted Ll
ﬁm%ﬁaan@aﬂw‘mﬁmg@a T A - et BT A o Sl 37
(A) difedr FiEsT (B) . S SHIOT O, AETE % foe &eT o
(©) fafire sfgri enapTar i glawr 3 (D) M. o7, ww. it Frofa werae womeht
E) smEREwE (o M
< <
90 Which of the following-input device is used to input temperatures and moistare Etc.?
(A) Sensors 94 (B) Webcam ’
(C)  Scanners Y (D) Joystics 8 .
uestion not dttémpted f
ggﬁéﬁﬁﬁ@wwggmmmmﬁaﬁTMﬁmmm%%ﬁmm%?
(B) awdw
(4 A O D) Sitafiesw b
© @ s ( ™
(E) &gufaaa o <
[‘—,
91  Identify the word thatfj’ﬂ best substitute the given expression (0 8]
One who is too strongtp be defeated. o
(A) Invincible .y (B) Invulnerable  yf
(C) Indefatigable o} (D)  Insolvent i
(E)  Question not attempted
Alll ® 19 [ P.T.O.
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93

94

95

96

97

98

All]

. - . clow:
Identify the most appropriate antonym of the given word from bel

APATHY »

(A) Fervor (B)  Stoicism
(C©)  Stupor (D) Aloofness
(E)  Question not attempted s

Choose the meost appropriate option from below 1o complete the sentence:
A formal letter concludes with a -

(A)  Heading
(C) Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signature

Froar 3 & o Fremy 35 Wh%a%mmaﬁmmﬁaﬂw%ﬁmﬁtﬁmzﬁ?ﬁ?%ﬁmw@

(A) T fm, 1976 (B) T s, 1963
(C) Tt aififyam, 1967 (D) T fm, 1973

(B) rgafaws

e T, fre i & fre et 3 Rrar smar 2o

(A) SR (B) 3uH ey
©) wEmERy (D) T
(E) yguf@wsr

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali (B)  Nepali

(C) Sindhi (D) English
(E)  Question not attempted

Freaferfa & o et s sfeere ot et o & anfter et 22

(A) Huredt (B) el
(€) furft (D) aish
(E) orgafawy '

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B) Kamlesh Mehta

(C) Manika Batra (D)  Sharath Kamal Achanta
(E)  Question not attempted

o e o 2aren v i et e iz e Tt e 2022 e R
(A)  Hwrsia sy (B) i dgan

(C) wFFran (D) YA A <[y

(B) rqaf@ys

Which one of the following is not a Fundamental Right under the Constitution of India?
(A) Right of Freedom (B)  Right to Education

(C)  Rightto Property (D)  Rightof Equality

(E)  Question not attempted

Freferfiaa # & =7 w1 vindv wifaur % qea i sl T8 2

(A) a1 sfirEn (3) e @ it
(C) Hufd & afiar (D) WA T AR
(E) Ingaf@wa

® : 20
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99  Choose the most appropriate option to complete the given sentence.
They withheld his results. He the proof of his age.
(AJ  doesn’t furnish (B)  has not furnished
(C)  had not furnished (D) didn’t furnish
(E)  Question not attempted
100 Choose the most appropriate option to complete the given sentence:
There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.
(A) a,a, the, the (B) a, the,a,a
(C) the,a, , the (D) an, the, an, a
(E)  Question not attempted
101  Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969to 1972 (B) 1957 to 1960
(C) 196110 1964 (D) 1966 to 1969
(E)  Question not attempted
o 3 i ATt § & Fe 3§ 8 0 & i et ot FreT SRt = fhr
(A) 1969 & 1972 (B) 1957 1960
(C) 1961 ¥ 1964 . (D) 1966 ¥ 1969
(E) ai@wd
102 Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-
<7, afraT 37 ST AT fraTe Terar A Frefa § § e ad § ey i ot
(A) 2012 (B) 2006
(C) 2007 (D) 2010
(E)  Question not attempted / g g4 -
103  Rajasthan handicraft policy has come into forceon ______ .
(A) 23 November, 2023 (B) 17 September, 2022
(C) 18 September, 2022 (D) 20 December, 2023
(E)  Question not attempted
Ty g AT vy g¥ o
(A) 235, 2023 B) 17 f&dsw, 2022
© 18 fud, 2022 (D) . 20 fegsw, 2023
() rgafasa
104 NITI AAYOG was established on: (Choose the most appropriate option from below)
(A) 1% January, 2015 (B) 1% January, 2014
(©)  15% August, 2014 (D) 15" August, 2015
(E)  Question not attempted "
< ot <t T o 7 e, (e ey 3 O )
(A) 1 SFad, 2015 (B) 15, 2014
(©) 1537, 2014 (B) 1& s¥ren, 2015
(E) Irgai@us
Al ® 21 [P.T.O.
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105 Choose the correct combination from below:

(A)  RRB - Agricultural Finance (B)  1DBI - Shofi/Term Loans
(C) RBI- Loégf}‘crm Loans (D) SBI- Mmi«fi}.ry Policy
(E)  Question not attempted !
Freaferr 2t gt st 1 9P o
(A) IR 3T, A i e (B) s, &, i aqrd. - srewepTfers 0
(©) R+, 31id)- defemferas swor (D) . aft, gz ifa
(E) agﬂﬁasvf“: v
106  How many industrics were reserved only for public sector before the dcr%uh!mn of the Industrial Sector in 19912
(Choose the most&ippropriate option from below)
1991 3, 3ehfer @ % Refram A o, mmﬁmm%m&aﬁmw@m (Fore 3 arardy I FrereT )
@ 17 X ® 20 I~
© 14 E; (D) 24 W
(E)  Question not attempted / STFaRa W2 C"
- -
107 59 & -0 vra-difirr o et e 87 Bt
(A) SferrEs 4 (B) gy O
© g ((a] (D) Mg 32
(E)  17afa wat) ot
N ' P
108 G fRoms. _ 0
e - 1 o e o e e e s o e s =
e - 1 : o G5 T e & o o o s e a
Wm%mﬁﬁmﬁﬁmﬁﬁﬁmwwﬁ{ 3
(A) T 1 ea &, Reg e 11w ) (B) Wlaﬁn}‘aﬁaﬁrﬁn
©) FAIsRuAi TR (@) FEITAS :ﬁﬁmnw%l
(E)  3r7afe wan) <t
el ~
109 Frfafias & & a7 afat sy & 2.0)
2. z® b & )
c. O d A i
T =
e, 9 v
ﬂ%ﬁqmﬁmﬁ&mmmmwzﬁmz s}
(A) e, d Wit e @) b, e Hyd
(C) %ﬁﬁa,cme (D) aﬁﬂu.dﬁc
() sty &
.00 Q
110 ‘Deputation’ mf@ﬁé}ﬁm&mg v
@A) Fafr ) ki
© Ffafe () ufyfa
(E) af@uy
All] X 22 [ P.T.O-
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114

All]

Fr=fafea § & onfsefer sTyg e -

(A) i (B)  shfas
(€ afafamr (D)  3rfifaeT
(E) fgui@us

Cooperative movement in Rajasthan region was started in the year ______. (Choose the most appropriate option

from below)

T 8 H FEwT RN YT and i wd | (P 3 & w39 e )
(A) 1914 (B) 1904
© 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:
Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.

Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E) Question not attempted

3 < e g E:

e (1): ifean urg ) firdh & e & ot forma st & =i 7 sreaftren wfafmarers g 21
U (I0): FFsan T IS & Yarerar & Sfafsr e 8) _

G FeT 3 ST, i R frehedt # & wa@ Iuge ST

(A) = (I) T & A U (1) FE 8l B) (1) A F (1) TH T
(©) = (1) 3 A (1) T & e B (D) A (1) | 2 A = (1) T R
(E) STuRa s

Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post

(B) Connect different computers together

(C)  Used to share the resources on internet

(D)  Stop unauthorized access into various computers

(E)  Question not attempted

AR g &, qgE drfdr @ g, T oS d e Iwm fefifie st & R e

Tﬂ'ﬁﬂ'%:

(A) W F T B0 W & g

(B)  fafim= st i uwh-gat @ sirgn

(C) S0 QU awTAT a1 aiyg i wied #f wan & e
D) Forfir st & smfirar g @ Qe 3 fer
(E) rgaf@wsn

® 23
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115 In which year the Indian Space Research Organisation (ISRO) was set up?

et 2 e e ¢ wiver et SIS (1SRO) o Toreey 1 18 Qﬁf
(A) 1952 (o) (B) 1962 .
1969 M (D) 1972

&t
et i
(E)  Question nolttf!\llcmplcd / argafa 9g i

(¥}
116 Which of the follm‘\ﬁﬂg facility is mot provided by the Rajasthan Sampark Pona[?"

(A)  Automatic éﬁ?:ccn Recognition (ASR) (B) " Gricvance Rc‘]mﬁ?? I

(©)  GIS integration and data analytics (D) Vidco—confcrcﬂcqlﬂ!%
; 9

(E)  Question not attempted

Wﬁﬁﬁﬁq{ﬂgﬁmmm%mm#ﬁﬁm%j

AR SR TR feioe (AsR) B)  frwrrdi 1 frzar,
(©) it o, T TEhTeRT0T 371 atieret apr faysymor (D) fifear ekl wy
(E) wf@ay I~ e
0 &
117 Fill in the blank by-choosing the most appropriate option: -
ot |
He was indignant ™% being cheated by the smooth talk of the salesman. j
(A) at ‘ (B) with i
©) in . D) of E
. Yk = : w
(E)  Question nota empted i
! |
118 Change the direct sg\e‘ech Into indirect speech by selecting the most appropriate;option from below:

He said, “I do not wish to see any of you, go awa.y.
(A) Hetold thatthe did not wish to see us and ordered us to go away.
AB)  He said thatthe had not wished to see any of them and ordered them to g

o
O

¥ o‘aivay.
(C)  He told that'he did not wish to see any of them and ordered them to go

away.
(D)  He said that he does not wish to see any of us an

d ordered us to g0 away,

(E)  Question notéttempted y (U]
82} ")

119 Change the sentence into passive voice by choosing the most appropriate oy
They feed the scalsl?a? the zoo twice a day. ‘
AAK)  Twice a day,1he seals are being fed at the zoo. (B)
(C)  They feed tl]p_fefxls lwicc‘a day at the zoo,
(E)  Question not.aftempted

ptioE

)
The zoo feeds tr@eals twice a day,
(D)  The seals are fedtwice a g

=
. , : \ W
120 In Rajasthan puttmb@ gold nail between the teeth is known as:- -
(A)  Borla (B)  Daamna "
(C)  Baari (D)  Choonp B~
(E)  Question no tempted 0y}
TS # 271 o ofig- 3 i ke @t o) e Y s ¢y
(A) sy (B) @ =
€y = ! (D) s .
(E) 3ruf@ua
All] ® . 24
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122

123

124

In which Rajasthani folk dance, dhol, bankiya and thali arc used as the main instruments?
(A) Gair (B) Ghudla N
(C) Chang 1) (D)  Dandiya ‘ '
(E)  Question not attemficd ‘ :
TSEI & %Haﬁaaaazﬁ%aﬁa.aﬁmaﬂthmmg@am-m&smﬁﬁmﬁﬁ{ d

)
|

A) ™ (B) H&<l e
© = 0 (D) =ifen o
(E) 3maf s - —
i s
= i
Where is Nataniyon Ki Haveli situated?
(A) Lakshmangarh © (B)  Jhunjhunu Lo
(C) Churu {_‘ (D) Jaipur ("
(E)  Question not atlcmpj%d =
mﬁﬁaﬁﬁaﬁﬁw@i%‘? ™
(A) TTEATE GO : (B) T (¥4]
© T o (D) A -
(E) HIarayy i =i
Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P.Sarabhai (3 (B) Potti Sriramulu W
(C) Sriram Gandhi {7} ' (D) Ramlal Gaya fj
=3

(E)  Question not attempted -
I AR 7 AT G, 1952 # guh Sy U9 shY TUTOET 3 1T SFEE W AT T o, aﬂrﬁgwm%%rm%’rwﬁ g 2
0

Tt 4 | o
() #@famE (B) gt =ity !
(C) e i (D)  THET T ;—i
(E) FgaRaud i
, Lo 0
Given below are two statements: m
Statement (I): In the context of the revolt of 1857, the term revolt refers primarily %d'the uprising of the civilian
population. ™ = ™

Statement (II): Mutiny W a collective disobedience of rules and regulations withiri-the armed forces.

In light of the above staterfients, choose the most appropriate answer from the options(g?{'en below.
™

(A) Statement (1) is incorrect but Statement (1) is correct,

(B)  Both Statement (I) Efill Statement (I1) are correct. i
(C)  Both Statement (I) and Statement (1I) are incorrect. e
(D)  Statement (1) is correct but Statement (1) is incorrect. ("kf:
(E)  Question not allem&l ‘d ES

’-ﬁaﬁmﬁqmg [A“' (‘.\
e (1): 1857 % Fordte (efe) o v 4 e e o1 anered s Afees 1ttt o) s 412y
awert (1): o8 (vaferef) ey areit 3 siee el 3t fafeil o wmfes s e

SR el 2 et §, A Ry faared i 8 e 3G I v

(A)  F (1) e & S g (1) e R (D) 4T (1) s s (1) 2ty 3y
(C) T (1) 3 e (11) Zt i rera B (D) 0 (1) et & S e (11) vrerer
(E) ,aﬁﬂﬂﬁ'gﬂ

All] 25
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129

; iven by henna?
Which of the following is responsible for the dark brown or reddish colour given by

(A) Hydroquinine (B)  Luciferin
(C) Meclanin (D) Lawsone
(E)  Question not attempted

A T T M S sy e 23 ey e i &y Pt e 87

(A)  wEgfETR (B) FfrHicT
) wafaw (D) @A
(E) gaf@ws

Zinc reacts with dilute nitric acid (aq) to give

Frafofea wiea & R s Hi'-nsﬁ?ﬁ LS| (aq)ﬁgﬁmﬁm%

(A)  Zn(NO,),+NO+H,0 (B)  Zn(NO,), + H;0 +N,0
(C) Zn(NO,),+H, (D)  Zn(NO,), + H,0 + NO,
(E)  Question not attempted / 3TIARA 4

Which of the following is not a part of chromosome?

(A) Chromatid (B) Satellite
(C) F, particle (D) Centromere
(E)  Question not attempted

v (oreE) w1 s i & o feea (i) 78 82

(A) s (B) ¥eEE
(©) uw it (D) iR
(E) HORE@9q

Which of the following is not a Kharif crop? .

(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted

frafafaa § @ 911 o Tlis waa 7 82

(A) wm (B) R
(C) =~a (D) =T
(E) wrqafausg

If ‘threat’ is coded as 289512, then *BRIDGESTONE® will be coded as:

% ‘threat’ 1 %1 # 289512 e fovan sy §, o *BRIDGESTONE® &1 %Y gy,
~tR) 29947512655 29 (@) 27947513855
(©) 29947612955 (D) 28947612855

(E)  Question not attempted / Jafa wu

Alll ® 26
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Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned

130
left and walked 7 km and Akbar turned right and walked 24 km. How far is cach of them from the starting point?
(A) 31km (B)  27km \O
(C) 25km S;Q (D) 26km )
(E)  Question not attempted M =
e ot vt 3 faadte o 8 ST g P | 31 24 o, o, sre ofte st 7 6, o, STy e st gt s
7%.ﬁ.wmﬁwaﬁgs%}.z4%tﬂHmlah\mpﬁgaﬁrﬁr?ﬂ'n?' ff
A) 31 fw A By 27, j
gor  2sfead sl () 265, :;
(E)  rguia v il ‘
131 A, B, C, D, Eand F are sitting in irow facing north. E and F are in the center, and A and l{,’irc at the ends. C is sitting
on the immediate left of A. Whes sitting on the immediate right of B?
A, B, C, D, E 3R F U vftr & It T 3 q@ &th 343 & EafF g i s st A aﬁts"nw%‘rc A F ZrF a7 T
W AT R B%aﬁmeﬁwﬁmaﬁ?éar%? (44
&y D (B) E o
© O (D) F ™
(E) Quesnon not attempted f%ﬂﬁﬁ pE s
132 Select the option that is related to the third letter cluster in the same way as the second letter cluster is related to the
first letter cluster. 0
ﬁnﬁﬁmﬁa@mmaﬁﬁrﬁﬁmmmﬁ@ﬁmmﬁm%ﬁmmﬁ?ﬁu%wm A TR H
I =} >
W'QUNDS DNOSUW : : ALMIGHTY : ? o0
GILHMATY Cﬂ (B) AIGHTYLM. O
(C) AIGHLMTY (D) AGHILMTY i
(E)  Question not attempted /i /“ﬂﬁﬁﬁﬁ i
133 There is a definite relationship between figures (i) and (ii). Establish a similar relationship’between figures (iii) and
(iv) by selecting a suitable ﬁguﬁ'%rom the options. So select a figure from the options thif would replace question
mark (?) m <t
T (i) #R (u)&ﬁﬁﬂ@ﬁfﬁmﬁl foraredi & ST ATHTT T T ek AT (il (iv) o s wHE Ha
e 1 Tafere fart "ﬁﬁmmwmﬁmwﬁzmm@ ™
Problem Figure / @9&1 :mqn'ﬁr e o
W v
Vi
C1@IOR? i
\0
(i) (ii) (i) LO (iv) ™M
(ag! it
A g B h‘;% I‘"’i
" i = 0o
00 o
(o} v~
T A [« D
1|
(E)  Question not attempted / aﬁﬂfﬁi a4
Alll ® 27 [ P.T.O.
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. 15
ing its denominator by 8%, the fraction become,
134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8% ' R 1

the original fraction is:

15
X e it i1 o1 AE = ST ) e fig
T O B0 5 star 1594 g R s i g g A 8 e fn s i A 16 Ty,
Hifr -

N/ ® ¥
< Y, o %

(E)  Question not attempted / Sﬂﬂﬁﬂ 94

135 Amit, Sumit and Vinay divide an amount of ¥ 2800, amongst themselves in the ratio of 5 : 6 : 3 respectively | g
amount of X 200 is added to the share of cach, what will be the new ratio of their sha{cs ?f thc.arzlount? 3
o, gt o Bz 2800 1 et 5 - ¢ 3 3 argue i ferfire s €1 af wede o el 1 T 20031z far
0t 5 3 et oy ST 1 BT
(A) 4:5:2 B) 6:9:4

A4€7 6:7:4 (D) 7:8:5
(E)  Question not attempted / Slgﬂf{?rs‘r';r
136 Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwai (B)  Mahatma Gandhi
(C)  C.Raj Gopalachari (D)  Sardar Vallabhbhai Patel i
(E) Question not attempted -
TEAF WA % et IT-yust e Toh ke o
(A) T o7eng fread (B)  waTemT Tiiefy
(© . I e (D)  HER Ieer g
(E) quf@wg

137 After the partition of India in 1947, which of the following archaeological sites remained on the Indian side ?
(A) Kalibangan (B) Harappa
(C)  Mohenjodaro (D)  Gunveriewala
(E)  Question not attempted
1947ﬁm%ﬁmm%mﬁwﬁ‘—uﬁgaﬁ&ﬁqmwmmm%m% &7 15y o
(A)  =Freftem (B) =2wr :

(C) e - (D) iattaTer
(E)  wfaug

138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B)  Karmni Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not attempted
1 AT ot Feradt #7
(A) s T (B)  woft wran
(C)  ftoraman (D) W&t T
(E) rmfeaug

All ] ® 28
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139 Poona
(A)
(B)
©
(D)
(E)

Pact 1932, was associated with which of the following Leaders?
Mahatma Gandhi and Dr. Bhim Rao Ambedkar

Mahatma Gandhi and Muhammad Ali Jinnah

Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah

Mahatma Gandhi and Pt. Jawaharlal Nchru

Question not attempted

AT T, 1932 Frafefiaa 3§ & i Yarei & dafa an

(A)
(B)
©
D)
(E)

HETAT et et . i arrga
HETHT et 3N sqewre aveht form

i, iU rea ud geee areft R
i 9

140 Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar © (D) Jawaharlal Nehru
(E)  Question not attempted

<fera =t weA, e wenfia famam

(A)  HER 3 i , ®) werH

(C)  Ehxfiw st (D) AT AEE
(E) Sgaf@uy

141 SVAMITVA Scheme is associated with

(A)  Soil conservation in rural areas.
(B) Water conservation in urban areas.
(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.
(E)  Question not attempted
(A) TSRl H Y T HE
(B) el eIl H e HE
(C) T SRt i ST S HAR
(D) T SR 3 geafir weor JsET
(E) Fgaf@ayd
142 National Panchayati Raj Day is celebrated on
(A) 26 April (B) 20 April
(C) 22 April (D) 24 April

(E)

st et e faw o rra o 81

(A)
©
(E)

All] ®

Question not attempted

B) 20 e

26 38
24 3der

22 s ©)
e v
' 29
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143 Which of the following is not a Constitutional Body?
(A)  National Human Rights Commission \O
(B)  Union Public Scrvil(}"!:'(:ommissiml ('f)
(C)  Finance C()llmmissif\;'? .,;i
(D) Election Commissit(ilf ™~
(E)  Question not nucm&nc}d f{)
9 s A e "
(A) it wrafr ST e
(B) ¥ Sk s g
(©) fo5omm \O
O FTEIwmm vt
(E) orafaws ™ i
i .
144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is ¥ 75 Oéng hat is the simple inter,,
same sum for 8 years, if the Tate of interest is increased by 2.5%? o
M 7.5% TE IR T S =8 e TR T 7, 500 Hrermwer sarer s 81 afE 36t ﬂgqfﬂ‘ﬂm 2.5% T b
" saﬂﬁmmm‘? ? v
(A) T 12,000 ¥ 20,000
© 12,500 O AP 10,000 0
(E)  Question not attempted / 31w W M
= =
145 9 O & W0 o O ey weany Tt ST R T WP =R Gﬂ?ﬂ'g"\
() iR 3 [SEE= 1 Q0
§ LB |
(E) Naﬂitﬂ g4 el ~
146 fFafafaa # & R e 5T Wt wify frsda @ O
(A) foam+ s ™ o= + sy m
© for+zw < g + s <
() sgaf@ss p- >
o o %}
147 Which of the following sthteient is not correct about the Chhota Nagpur Plateay [n@ﬁm region?
(A) This region owes ifs-Jdcvclopmcnt to being rich in iron ore from Jharkhand-Og sha and coal from De™
Valley. L a
(B)  This region is popularly known as “Ruhr of India”. )
(C)  This region extends pver Jharkhand, Chhattisgarh and Andhra Pradesh, \g
(D)  Ranchi, Dhanbad, C) aibasa, Sindri are some important industrial centres °ft'\i,§ region.
(E)  Question not altcmi)[gd R
mﬂﬁmmmﬁawmaﬂ@ﬁmm%mﬁwmé? a0
(A) Wﬁimﬁmumg-aﬁ&mﬁmmammm%mﬁmmgmwg,
(B) 9% &7 W & TEC, A O Tz ) ™
©) mmm.mmsmammmmgwm |
(D) T, ez, wrdaran, el vt 8 & st siedfiv 3 #)
(E) rqaf@wy ;
Alll ® 30 (7T
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148  Which of the following statement is nor correct about the Tertiary Coal?
(A) Itis found in the rocks of the oligocene period of the Tertiary Era.
(B) Itisalso known as the brown Coal.
(C) Itisaninferior quality Coal.
(D) It contributes to about 25% of the total coal production of the country. |
(E)  Question not attempted g
PR 3 & 2 1 e e vt 3y v i a7 2 '
(A) T8 TAH I & i wrer i gt i arar s 2
(B) T MU I F T & ot STt S 2

(© T8 e o = e g ) g
(D)  T® 3 FA BRI I & 25% o1 steram 2ar 21
(E) Huitawd
149 Karewa formation are useful for the cultivatién of
(A) Coffee '
(B) Zafran/Saffron ' ’
(C) Cotton
(D) Jute

(E)  Question not attempfed

FHET I (BT foraeht St 3 fora sganft 22

) FR - : '
®) F@
©) =H
(D) =i '
(E) eraf@sa
150  Which of the following river is right bank tributary of the Ganga River System?
(A) Ghaghara
(B) Ramganga
(C) Son
(D)  Gomti i~

"(E)  Question not attempted

P i & w741, iy ey porrely o @t werE A4 82

(A) =T

(B) 1

© =

) i

(E)  yqafauy
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